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No. of Questions — 30 SS—10—Econ.  
No. of Printed Pages — 7 

2013 

SENIOR SECONDARY EXAMINATION, 2013 
 

ECONOMICS 

3 
4

1

 

80 

 

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. 

Candidate must write first his / her Roll No. on the question paper 

compulsorily.

2. 

 All the questions are compulsory. 

3. 

Write the answer to each question in the given answer-book only.

4. 

For questions having more than one part the answers to those parts 

are to be written together in continuity. 

5. 

If there is any error / difference / contradiction in Hindi & English 

versions of the question paper, the question of Hindi version should 

be treated valid.
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6.  

1-10 1 10 

11-18 2 20 

19-27 4 30-40 

28-30 6 250-300  

  Section Q. Nos. Marks per  Word limit  

    question of answer 

  A 1-10 1 10 words 

  B 11-18 2 20 words 

  C 19-27 4 30-40 words 

  D 28-30 6 250-300 words 

7. 28, 29 30

 Question Nos. 28, 29 and 30 have internal choices. 

 

–  

Section – A 

1.  

 Who are the macroeconomic decision makers ?  1 

2.  

 What is budget-line ? 1 

3.  

 Define the substitution effect of a change in price of a good. 1 

4.  

 What is production function ? 1 
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5.  

 Explain the National Disposable Income. 1 

6.  

 What is meant by liquidity preference ? 1 

7. M3  

 What is M3 measure of money supply ? 1 

8.  

 Define ex post measure. 1 

9.  

 What is meant by investment ? 1 

10.  

 What is trade surplus ? 1 

–  

Section – B 

11. 

 

 Differentiate between positive economic analysis and normative 

economic analysis. 2 

12.  

 Distinguish between normal goods and inferior goods. 2 



 4 

SS—10—Econ. .SS–510. 

13.  

 Draw a diagram of an indifference curve. 2 

14.  

 Explain the price elasticity of demand.  2 

15.  

 Give any two examples each of consumer goods and capital goods.   

   1 + 1 

16.  

 Write two drawbacks of barter system.  1 + 1 

17.  

 Mention any two functions of money.  1 + 1 

18.  

 How is the revenue deficit calculated ? 2 

–  

Section – C 

19. 

 Explain the shifts in a demand curve. 4 

20. 

 Explain the long run cost curves with the help of a diagram. 4 
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21. 

  1 35 — — 

  2 50 — — 

  3 69 — — 

  4 92 — — 

 Calculate Marginal Product and Average Product on the basis of 

output and total product given in the table : 4 

  Output (units)   Total product  Marginal product   Average product 

  1 35 — — 

  2 50 — — 

  3 69 — — 

  4 92 — — 

22. 

 Explain the equilibrium of the monopolist in terms of the average and 

the marginal curve. 2 + 2 

23. 

 Describe the circular flow of income. 4 

24. 

 Explain the Currency Deposit Ratio. 4 

25.  

 What is the principle of effective demand ?  4 
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26.  

 Explain the Capital Receipts and Capital Expenditure of the 

Government. 2 + 2 

27.  

 Explain the determination of exchange rate in a system of flexible 

exchange rates.  4 

–  

Section – D 

28. 

 

 

 

 Discuss the law of variable proportions with the help of a diagram.  

   2 + 4  

OR 

 Explain the concepts of short run and long run. Discuss the 

relationship between average product and marginal product with the 

help of a diagram. 2 + 2 + 2 

29. 
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 Explain the determinants of a firm's supply curve.  6 

OR 

 Discuss the price ceiling with the help of a diagram. 2 + 4 

30. 

 

 

 

 Explain the value added method of calculating national income with 

the help of a numerical example. 4 + 2  

OR 

 Differentiate between stock variable and flow variable. Discuss the 

concept of inventory. 2 + 4 
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No. of Questions — 30 SS—10—Econ.  
No. of Printed Pages — 7 

2014 

SENIOR SECONDARY EXAMINATION, 2014 
 

ECONOMICS 

3 
4

1

 

80 

 

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. 

Candidate must write first his / her Roll No. on the question paper 

compulsorily.

2. 

 All the questions are compulsory. 

3. 

Write the answer to each question in the given answer-book only.

4. 

For questions having more than one part the answers to those parts 

are to be written together in continuity. 

5. 

If there is any error / difference / contradiction in Hindi & English 

versions of the question paper, the question of Hindi version should 

be treated valid.
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6.  

1-10 1 10 

11-18 2 20 

19-27 4 30-40 

28-30 6 250-300  

  Section Q. Nos. Marks per  Word limit  

    question of answer 

  A 1-10 1 10 words 

  B 11-18 2 20 words 

  C 19-27 4 30-40 words 

  D 28-30 6 250-300 words 

7. 28, 29 30

 Question Nos. 28, 29 and 30 have internal choices. 

 

–  

Section – A 

1.  

 Write the meaning of Centrally Planned Economy.  1 

2.  

 What is the short run period ? 1 

3.  

 Define Oligopoly. 1 

4.  

 Explain the situation of zero excess demand and zero excess supply. 1 

5.  

 What is the remuneration of human labour ? 1 

6.  

 What is meant by liquidity preference ? 1 

7.  

 Give any two deficiencies of barter system. 1 
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8.  

 What is a closed economy ? 1 

9. 25  5

 

 If indirect taxes and subsidies amounted to Rs. 25 Cr. and Rs. 5 Cr. 

respectively in an economy, calculate the net indirect taxes. 1 

10.  

 Which are the capital goods among television, tractor, pump set and 

food ?  1 

–  

Section – B 

11.  

 Write any two central problems of an economy. 1 + 1 

12.  

 What are meant by direct taxes and indirect taxes ? 1 + 1 

13.  

 Explain the diminishing rate of substitution. 2 

14. AB A B

 What is the elasticity of demand at the points A and B on the given 

demand curve AB ?  2 
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15. 

  
   

1 9 9  — 

2 8 16   

 Calculate the marginal revenue and average revenue on the basis of 

quantity sold, price and total revenue given in the table : 

Quantity sold Price 
Total 

revenue 
Average 
revenue 

Marginal 
revenue 

1 9 9  — 

2 8 16   

   ½ + ½ + 1 

16. 250 

100  

 Calculate the ex-ante aggregate demand, when the ex-ante 

consumption expenditure is Rs. 250 Cr. and the ex-ante investment 

expenditure is Rs. 100 Cr. in an economy without a government.  2 

17.  

 Differentiate between foreign trade surplus and trade deficit.  1 + 1 

18. 

 

 Explain the meaning of foreign exchange market. Mention any two 

participants of the market. 1 + ½ + ½ 

–  

Section – C 

19. 

 Write four instruments of monetary policy of Reserve Bank of India. 

   4  1 

20. 

 Describe any two measures to reduce the Government Deficit. 2 + 2 
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21. 

 

 Explain the meaning of investment with an example. What is the 

deciding factor of investment decision ? 3 + 1 

22. 

 What is liquidity trap ? Explain with the help of a diagram. 2 + 2 

23. —

 Give a diagrammatic representation of Gross Domestic Product by the 

three methods — Expenditure, Income and Product. 4 

24. 

 Write any four conditions of perfectly competitive market. 4  1 

25. 

 
  

 
  

  

0 40 — 40 — — — — 

1 40 20 60 ? 20 60 20 

2 40 36 76 20 18 ? 16 

3 40 48 88 13·33 ? 29·33 ? 

 Calculate the missing values of average fixed cost, average variable 

cost, short run period average cost and short run period marginal cost 

in the given table :   

Output 

(Units) 

Total 

fixed 

cost 

Total 

variable 

cost 

Total 

cost 

Average 

fixed 

cost 

Average 

variable 

cost 

Short run 

period 

average 
cost 

Short run 

period 

marginal 
cost 

0 40 — 40 — — — — 

1 40 20 60 ? 20 60 20 

2 40 36 76 20 18 ? 16 

3 40 48 88 13·33 ? 29·33 ? 

   4  1 
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26. 10 100 12 

150  

 The price of a commodity is Rs. 10 and the supply is 100 units. If the 

price increases to Rs. 12 and supply increases to 150 units, calculate 

the price elasticity of supply. 4 

27. 20 

   

0   

1   

2   

3   

 If the price of a good in a perfectly competitive market is Rs. 20 per 

unit, compute the total revenue and marginal revenue schedules in 

the given table.  4 

Sold quantity Total revenue Marginal revenue 

0   

1   

2   

3   

–  

Section – D 

28. 

 

 

 

 Explain shift in the demand curve and movement along the demand 

curve with the help of diagrams. 3 + 3  

OR 

 What do you mean by the budget line and indifference curve ? Explain 

the indifference map with the help of a diagram. 1½ + 1½ + 3 
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29. 

 

  

 Differentiate between fixed input and variable input. Explain the law of 

Diminishing Marginal Product.  1 + 1 + 2 + 2 

OR 

 Discuss the short run cost curves with the help of diagrams. 6 

30. 

 

 

(i) 

(ii) 

(iii) 

(iv) 

(v) 

(vi)  

 Discuss the relationship between Gross Domestic Product and 

Welfare. 6  

OR 

 Explain the following concepts :  6  1 

(i) Gross Domestic Product 

(ii) Gross National Product 

(iii) Net National Product 

(iv) Net National Product at Factor Cost 

(v) Personal Income 

(vi) Personal Disposable Income.  
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 x……®……ΔEÚ Roll No. 
  

 
 

      

 

No. of Questions — 30 SS—10—Econ.  
No. of Printed Pages — 7 

=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2015 
SENIOR SECONDARY EXAMINATION, 2015 

+l…«∂……∫j…  
ECONOMICS 
∫…®…™… :  3 

4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 80 
 

{…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… : 

GENERAL INSTRUCTIONS TO THE EXAMINEES : 

1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â* 

 Candidate must write first his / her Roll No. on the question paper 
compulsorily. 

2. ∫…¶…“ |…∂x… EÚÆ˙x…‰ + x…¥……™…« ΩÈ˛* 

 All the questions are compulsory. 

3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â* 

 Write the answer to each question in the given answer-book only. 

4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 

 For questions having more than one part the answers to those parts 
are to be written together in continuity. 

5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ /  ¥…Æ˙…‰v……¶……∫… Ω˛…‰x…‰ 

{…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â* 

 If there is any error / difference / contradiction in Hindi & English 
versions of the question paper, the question of Hindi version should 
be treated valid. 
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6.  J…hb˜ |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… =k…Æ˙ EÚ“ ∂…§n˘ ∫…“®…… 

  + 1-10 1 10 ∂…§n˘ 

  §… 11-18 2 20 ∂…§n˘ 

  ∫… 19-27 4 30-40 ∂…§n˘ 

  n˘ 28-30 6 250-300 ∂…§n˘ 

  Section Q. Nos. Marks per  Word limit  
    question of answer 
  A 1-10 1 10 words 
  B 11-18 2 20 words 
  C 19-27 4 30-40 words 
  D 28-30 6 250-300 words 

7. |…∂x… GÚ®……ΔEÚ 28, 29 i…l…… 30 ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛* 
 Question Nos. 28, 29 and 30 have internal choices. 
 

J…hb˜ – + 

Section – A 

1. ø…∫…®……x…  ¥…∫l……{…x… n˘Æ˙ EÚ… +…∂…™…  ±… J…B*  

 Write the meaning of diminishing rate of substitution.  1 

2. ®……ƒM… °Ú±…x… C™…… ΩË˛ ?  

 What is demand function ? 1 

3. §……V……Æ˙ +l…«¥™…¥…∫l…… EÚ… BEÚ =n˘…Ω˛Æ˙h… §…i……<B*  

 Give an example of market economy. 1 

4. n˘“P…«EÚ…±… ∫…‰ C™…… i……i{…™…« ΩË˛ ?  

 What is meant by long run period ? 1 

5. EÚ“x∫… EÚ“ |… ∫…r˘ {…÷∫i…EÚ EÚ… x……®…  ±… J…B*  

 Write the name of Keynes's famous book. 1 

6. ®…÷p˘… E‰Ú ∫…ΔS…±…x… ¥…‰M… EÚ… +…∂…™… §…i……<B*  

 Give the meaning of velocity of circulation of money. 1 
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7. ¶……Æ˙i… E‰Ú E‰Úxp˘“™… §…ÈEÚ EÚ… x……®…  ±… J…B*  

 Write the name of central bank of India. 1 

8. ∫…Æ˙EÚ…Æ˙“ §…V…]ı ∫…‰ C™…… i……i{…™…« ΩË˛ ?  

 What is meant by Government budget ? 1 

9. ®…÷p˘… EÚ“ ∫…^ı… ®……ƒM… EÚ…‰ EÚ…Ëx…-∫…… EÚ…Æ˙EÚ  x…v……« Æ˙i… EÚÆ˙i…… ΩË˛ ?  

 Which factor determines speculation demand for money ? 1 

10. Æ˙…V…EÚ…‰π…“™… P……]ı…  EÚ∫…‰ EÚΩ˛i…‰ ΩÈ˛ ?  

 What is fiscal deficit ? 1 

J…hb˜ – §… 

Section – B 

11. ¥™…Œπ]ı B¥…Δ ∫…®…Œπ]ı +l…«∂……∫j… ®…Â EÚ…‰<« n˘…‰ +xi…Æ˙ §…i……<B* 

 Give any two differences between Micro- and Macro-economics. 1 + 1 

12. ={…¶……‰HÚ… EÚ… <π]ıi…®… ∫…Δ™……‰M… EÚ…‰ n˘∂……«x…‰ ¥……±…… Æ‰˙J…… S…j… §…x……<B*  

 Draw a diagram showing optimum combination of consumer. 1 + 1 

13. +±{…… v…EÚ…Æ˙ §……V……Æ˙ EÚ“  EÚxΩ˛” n˘…‰  ¥…∂…‰π…i……+…Â EÚ… =±±…‰J… EÚ“ V…B*  

 Mention any two characteristics of oligopoly market. 2 

14. +…Ë∫…i… ∫…®|……Œ{i… B¥…Δ ∫…“®……xi… ∫…®|……Œ{i… ®…Â +xi…Æ˙ ∫{…π]ı EÚ“ V…B* 

 Clarify the difference between average revenue and marginal revenue.   
   2 

15. ∫…EÚ±… Æ˙…π]≈ı“™… =i{……n˘ B¥…Δ ∫…EÚ±… P…Æ‰˙±…⁄ =i{……n˘ EÚ“ +¥…v……Æ˙h……+…Â EÚ…‰ ∫…®…Z……<B* 

 Discuss the concepts of Gross National Product and Gross Domestic 
Product. 2 

16. ¥™……¥…∫…… ™…EÚ §…ÈEÚ…Â E‰Ú  EÚxΩ˛” n˘… ‰ ®…÷J™… EÚ…™……Á EÚ… ¥…h…«x… EÚ“ V…B*  
 Describe any two main functions of commercial banks. 2 

17. +…Æ˙ I…i… V…®…… +x…÷{……i… C™…… ΩË˛ ? ∫…®…Z……<B*  

 What is reserve deposit ratio ? Explain.  2 

18.  x…¥…‰∂… M…÷h…EÚ EÚ“ |… GÚ™…… EÚ…‰ ∫…ΔI…‰{… ®…Â ∫…®…Z……<B* 

 Explain briefly the process of investment multiplier. 2 
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J…hb˜ – ∫… 
Section – C 

19. {… Æ˙¥…i…‘ +x…÷{……i…  x…™…®… EÚ“ ¥™……J™…… EÚ“ V…B* 

 Explain the law of variable proportions. 4 

20. ∫……Æ˙h…“ ®…Â n˘“ M…<« =i{……n˘x… <EÚ…<™……Â B¥…Δ E÷Ú±… {… Æ˙¥…i…‘ ±……M…i… E‰Ú +…v……Æ˙ {…Æ˙ +±{…EÚ…±…“x… 
+…Ë∫…i… ±……M…i… B¥…Δ +±{…EÚ…±…“x… ∫…“®……xi… ±……M…i… EÚ“ M…h…x…… EÚ“ V…B : 

 x…M…«i…  

(<EÚ…<™……ƒ) 

E÷Ú±… {… Æ˙¥…i…‘ ±……M…i… 

(Ø˚0) 

+±{…EÚ…±…“x… +…Ë∫…i…  

±……M…i… (Ø˚0) 

+±{…EÚ…±…“x… ∫…“®……xi… 
±……M…i… (Ø˚0) 

1 30 ....... ....... 

2 40 ....... ....... 

3 48 ....... ....... 

4 52 ....... ....... 

 Calculate short run average cost and short run marginal cost on the 
basis of units of output and total variable cost in the given table : 

Output 
( units) 

Total variable cost 
( Rs.) 

Short run  
Average cost 

(Rs.) 

Short run 
Marginal cost 

(Rs.) 

1 30 ....... ....... 

2 40 ....... ....... 

3 48 ....... ....... 

4 52 ....... ....... 

   8  ×  = 4 

21. {…⁄Ãi… ¥…GÚ C™…… ΩË˛ ? BEÚ °Ú®…« E‰Ú {…⁄Ãi… ¥…GÚ EÚ…‰  x…v……« Æ˙i… EÚÆ˙x…‰ ¥……±…‰ EÚ…‰<« i…“x… i…i¥… ∫…÷Z……<B* 

 What is supply curve ? Suggest any three elements which determine 
supply curve of a firm. 3 + 1 

22. BEÚ… v…EÚ…Æ˙ EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B* BEÚ… v…EÚ…Æ˙“ EÚ“ EÚ…‰<« i…“x… ∂…i…Á ∫…®…Z……<B* 

 Define monopoly. Describe any three conditions of a monopolist. 1 + 3 
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23.  x…®x……Δ EÚi… ∫…®…ΔEÚ…Â EÚ“ ∫…Ω˛…™…i…… ∫…‰ Æ˙…π]≈ı“™… +…™… EÚ“ M…h…x…… EÚ“ V…B : 

 (i) §……V……Æ˙ EÚ“®…i… {…Æ˙ ∫…EÚ±… Æ˙…π]≈ı“™… =i{……n˘ 1000 EÚÆ˙…‰c˜ Ø˚0 

 (ii) ®…⁄±™… ø…∫… 200 EÚÆ˙…‰c˜ Ø˚0 

 (iii) +|…i™…I… EÚÆ˙ 150 EÚÆ˙…‰c˜ Ø˚0 

 (iv) +x…÷n˘…x… 250 EÚÆ˙…‰c˜ Ø˚0  

 Calculate national income with the help of following data : 

 (i) Gross National Product at market price Rs. 1000 crore 

 (ii) Depreciation Rs.   200 crore 

 (iii) Indirect Taxes Rs.   150 crore 

 (iv) Subsidy Rs.   250 crore   

   4 

24. E‰Úxp˘“™… §…ÈEÚ EÚ…‰ ¥™……¥…∫…… ™…EÚ §…ÈEÚ…Â EÚ… +Δ i…®… @Òh…n˘…i…… C™……Â ®……x…… V……i…… ΩĘ̈ ? EÚ…Æ˙h… ∫{…π]ı 

EÚ“ V…B* 

 Why is central bank treated as lender of last resort for commercial 
banks ? Clarify with reason. 4 

25. {…ËÆ˙…®…‰ ]≈ıEÚ  ∂…}]ı ∫…‰ +…{… C™…… ∫…®…Z…i…‰ ΩÈ˛ ? 

 What do you understand by parametric shift ?  4  

26. {…⁄ƒV…“M…i… |……Œ{i…™……Â ∫…‰ C™…… + ¶…|……™… ΩË˛ ? {…⁄ƒV…“M…i… |……Œ{i…™……Â EÚ“  EÚxΩ˛” n˘…‰ ®…n˘…Â EÚ… =±±…‰J… 

EÚ“ V…B* 

 What are meant by capital receipts ? Mention any two items of capital 
receipts. 1 + 3 

27. +n˘…™…M…“ ∫…Δi…÷±…x… B¥…Δ ¥™……{……Æ˙ ∫…Δi…÷±…x… E‰Ú +xi…Æ˙ EÚ…‰ ∫{…π]ı EÚ“ V…B* 

 Clarify the difference between balance of payments and balance of 
trade.   2 + 2  
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J…hb˜ – n˘ 

Section – D 

28. ®……ƒM… EÚ“ EÚ“®…i… ±……‰S… EÚ… C™…… + ¶…|……™… ΩË˛ ? ®……ƒM… EÚ“ EÚ“®…i… ±……‰S… EÚ“  EÚxΩ˛” S……Æ˙ ∏…‰ h…™……Â 

EÚ…‰ ∫…®…Z……<B* 

+l…¥…… 

 ®……ƒM… EÚ“ EÚ“®…i… ±……‰S… EÚ“ V™…… ®…i…“™…  ¥… v… EÚ…‰ ∫… S…j… ∫…®…Z……<B* 

 What is meant by price elasticity of demand ? Explain any four 

categories of price elasticity of demand. 2 + 4  

OR 

 Explain the geometric method of price elasticity of demand with 

diagram. 6 

29. +±{…EÚ…±…“x… +…Ë∫…i… ±……M…i… B¥…Δ n˘“P…«EÚ…±…“x… +…Ë∫…i… ±……M…i… EÚ“ ∫… S…j… ¥™……J™…… EÚ“ V…B* 

+l…¥…… 

 +±{…EÚ…±…“x… ∫…“®……xi… ±……M…i… B¥…Δ n˘“P…«EÚ…±…“x… ∫…“®……xi… ±……M…i… EÚ“ ∫… S…j… ¥™……J™…… EÚ“ V…B* 

 Explain short run average cost and long run average cost with 
diagram. 2 + 2 + 2 

OR 
 Explain short run marginal cost and long run marginal cost with 

diagram. 2 + 2 + 2 

30. ""∫…EÚ±… P…Æ‰˙±…⁄ =i{……n˘ ®…Â |…i™…‰EÚ ¥…fi r˘ EÚ±™……h… EÚ… ∫…⁄S…EÚ x…Ω˛” Ω˛…‰i…“ ΩË*˛'' EÚl…x… EÚ…‰ EÚ…‰<« i…“x… 

i…EÚ…Á E‰Ú +…v……Æ˙ {…Æ˙ ∫{…π]ı EÚ“ V…B* 

+l…¥…… 

  x…®x… +¥…v……Æ˙h……+…Â EÚ…‰ ∫{…π]ı EÚ“ V…B : 

(i) ={…¶……‰M… ¥…∫i…÷Bƒ B¥…Δ {…⁄ƒV…“M…i… ¥…∫i…÷Bƒ 

(ii) ®…v™…¥…i…‘ ¥…∫i…÷Bƒ B¥…Δ +Δ i…®… ¥…∫i…÷Bƒ 

(iii) ∫…EÚ±…  x…¥…‰∂… B¥…Δ  x…¥…±…  x…¥…‰∂…* 
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 "Every increase in gross domestic product is not the indicator of 

welfare." Clarify the statement on the basis of any three arguments. 

   2 + 2 + 2  

OR 

 Distinguish between the following concepts :   

(i) Consumer goods and capital goods 

(ii) Intermediate goods and final goods 

(iii) Gross investment and net investment. 2 + 2 + 2 
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��	���	#$��	%�	&'�	#$��(�)*+����	��	 �	����	�

Write the answer to each question in the given answer-book only.

4) �,�	
�����	�������	
���
����������������������
��������������
��� 

For questions having more than one part the answers to those parts
are to be written together in continuity.
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1) ����!�����"�#�������$	
���%����&�"�� [1]

Define an economic agent.

2) �'()*���+)����, [1]

What is depreciation?

3) $'-!�)��.����/���01����������2��
-�2��"�� [1]

Give an example of perfectly inelastic demand.

5) 
3��$4��������2��5���16�"��7�$���
����������8���
���&�49�#��:����
�:��5
��;�����������$
����2�
��%������83���������������� 
If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated valid.

6) �12/ 
��	��<)� �����8=)����83� ���
���&�>?2�����
� 1-10 1 10 >?2
. 11-18 2 20 >?2
� 19-27 4 30-40 >?2
2 28-30 6 250-300 >?2

Section Q.Nos. Marks per Word limit

question of answer

A 1-10 1 10 words

B 11-18 2 20 words

C 19-27 4 30-40 words

D 28-30 6 250-300 words

7) 
��	�6�������28,29 ��� 30 �������	
����5��($��@� 
Question Nos. 28, 29 and 30 have internal choices.
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4) ."#����#�������$����+)�����8�)���, [1]

What do you understand by budget set?

5) �����������1��5�6����)�����
����$
5�)����A����������������, [1]

Which cost curve is a rectangular hyperbola?

6) �
������;����������>)����
�� [1]

What is meant by liquidity preference.

7) B�#��������5���8.�;����C�D)�� [1]

Explain deficit financing.

8) E��#��	
��$�	
.�F���&����)���������!����
�� [1]

Write the meaning of "Ceteris Paribus".

9) ��5�>�������=$)!���C�D�� [1]

Explain the meaning of investment.

10) .�2���!G)5H��������$�+)����C����@, [1]

What do you understand by a closed economy.

�������	
�	
��
�����

11) $'0"�5�2����!G)5H�����&�����D!�2����5>�%���0����
�� [1+1=2]

Write any two characteristics of a capitalist economy.
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12) ��01���&����/��������C�D)�� [2]

Explain the elasticity of demand.

13) $'
������
�H����$I�5H�9����������2��
-���&����)��������C�D)�� [1+1=2]

Explain complementary and substitutes with an example.

14) .�"�
�$'��!������������������������J)�������C�D)�� [2]

Explain market supply with the help of a table.

15) ��)�����5�!9��85����������C�D)�� [2]

Explain the circular flow of income.

16) ��$������9��
���
��)�	
"5!�.@������������K�2���8�9
����)�L���������
�� [1+1=2]

What according to you are two major functions of RBI.

17) �M�>�N�>�����9O������8�9
�B#�������
�� [2]

Write the main components of high powered money.

18) 8�������B�#��������'4����
�� [2]

Write the formula for primary deficit.



�

����������� ��
 ��������	
�

���������
�	
��
����


19) �$���N�������DP#����/)��������$)9N��
�
��/4���&����)��������C�D)�� [4]

Explain the optimum choice of a consumer with the help of a diagram.

20) 2��1D!���
-������Q���������RH�
���1���������$	
5�S���1����($���������������1�����

�($����������������1���'()�����&�1-�����&�"��T [1+1+1+1=4]

��1!� �9���H�
 �9��$	
5�S �9�� ����� ����� �($U �($U
����VD!���D)�0W����1� ��1� ��1� RH�
���1� $	
5�S��1� ����� ������

��1� ��1�
0 10 0 10 - - - -

1 10 20 30 10 20 30 ?

2 10 35 45 ? 17.5 ? 15

3 10 45 55 3.33 ? 18.33 10

From the given table calculate the missing average fixed cost, average variable
cost, short term average cost and short term marginal cost.

Output TFC TVC TC AFC AVC SAC SMC

(units)

0 10 0 10 - - - -

1 10 20 30 10 20 30 ?

2 10 35 45 ? 17.5 ? 15

3 10 45 55 3.33 ? 18.33 10

21) �=$�2���X����+)����,�2�B!����������
��($��������=$�2��X�����������)�������������"����"���
��, [2+2=4]

What is a production function? What are the other names of long term and short
term production functions?

22) ��;��01����
���;$'��!�������$)9N��
�
��/4�������J)�������C�D)�� [2+2=4]

Explain excess demand and excess supply with suitable diagrams.
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23) 
�P#Y��)���)�1-�����&��'()5�;!���5�;�������Z�$����5-!����&�"�� [4]

Explain the value added method of National Income Measurement.

24) �9O��$'��!�����/�
�8�9
�B#������C�D�� [1+1+1+1=4]

Explain the four major components of supply of money.

25) 8=)��>�����
�)���!���5�>������2���&�"�� [2+2=4]

Distinguish between ex-ante and ex-post investment.

26) ��
�
�"H5����
�1�
���
T
�"H5�����2��T2����2��
-����
�� [2+2=4]

Write two examples of tax revenue and non-tax revenue.

27) �[)��5���)�2
�8-�����������Z�$������C�D)�� [4]

Explain in brief the flexible exchange rate mechanism.

�������
�

�	
��
�����

28) $	
5�S���9$�����������)����&�
�
��/4�����&����)������G)�<)����&�"�� [6]

Explain the law of variable proportions with the help of diagrams.

��5�:OR

X��!�����$'��!�5�6��������;�!
����=5�������5-!����&�"�� 

Explain the factors determining the supply curve of a firm.

29) $'-!�8��)���1���+)����,�$9-!�8��)���1���.�"�
���&�8�9
��5>�%���.��D)�� [2+4=6]

What is perfect competition? Write the major characteristics of a perfectly
competitive market.
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��5�/OR

�($��;���
�.�"�
�+)����,��($��;���
����X��!�������G)5��
���
�����,

What is oligopoly market? How do firms behave in oligopoly?

30) H#��\���/
�5�85���/
������J)����
���&�"�� ������'/����&��5;�
-����&�G)�<)����&�"�� 
[2 + 4 = 6]

Differentiate between stock and flow variables. Discuss the concept of inventory.

��5�/OR

��[���5;�
-����������H$P#����&�"��] [1 + 1 + 1 + 1 + 1 + 1 = 6]

i) �����B
��9��=$�2

ii) �����
�P#Y��)��=$�2

iii) ��5��
�P#Y��)��=$�2

iv) ���
�����1��$
���5��
�P#Y��)��=$�2

v) 5�)�N���� ��)

vi) G)�N�1��8)��̂ )���)

Explain the following concepts:

i) Gross Domestic Product

ii) Gross National Product

iii) Net National Product

iv) Net National Product at factor cost

v) Personal Income

vi) Disposable Personal Income
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���*����+�,� ���

,
���
�����
�	���������$���	���
	�������
�������

�� �'���-�������.,)��/��.�0����1#����2#����3 ���

 ��	�����
��	�$������
�
�-��$
�!
	�����	����	.

�� ���4���+���+������5���+���������(���6��7#��������8��
���+�,�� ���

/
�	��������	�����	
!���
���������
�
���	���	������
�����

0� 
9��':��������(��$���4;�,��<�'���
����������/���
���+�:=�)��>����
�>��$
��0�����������'
����(�
��*������/9���������������� 
1��	�
�
��������
�����������
�
��
������	�����	�������2�����3�4�!�����"
������
���	�
��

�	�������
�5�	�
��

�	�������2�����"
���������
���$
�	�
�	
��"�����

6� �12/ 
��	��?#� �����/&#����/9� ���
���+�2@(�����
� �#�+ � �+�2@(
. ��#�* � �+�2@(
� �7#�8 & �+#&+�2@(
( �*#�+ 6 �0+#�++�2@(

9
�	��� :����� /��%���
�  ��������	
�

�	��� �������
�

� �#�+ � �+������

; ��#�* � �+������
� �7#�8 & �+#&+������
, �*#�+ 6 �0+#�++������

8� 
��	�;��������*5��7������+��������	
����$��8'��A� 
:

�	����������*5��7������+���"
���	
����������
��
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��	����

�� �������$�2����1#����&'#!����3 ���

 ��	�����
��	�$��!�������"
�	�
�	.

�� �=D��������5���$�4������'�1#����E�������3 ���

 ��	������
�
��
��	����$��"
����	���������
��	����������
�.

�� 
=���.�,�
����#!$�������1#����2#����3 ���

 ��	�����
��	�$����
�����%
	���
��	����.

�� ����!���5
�������#���!���'�1#�����3 ���

 ��	�������
<���	��
��
�
�����
��������"����$�
��

�� ��4;����4�����(���F)����.��G�� ���

9	�	
�	���������
�	������!!�
!�	
��
�����

��� �(�#4�����=������1#�����/�#����3 ���

 ��	�����
��	�$��$�����
��������
�	�.
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4<������	�
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����!�������%
	��
�����

��� ��0���4��$����0'C��!�������
���E�G�� �� �!��
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�����

��� �'���4�$%�=�����$��'C�,�4��$%�=��������(��K(����(��
7����
�� �" " " "!��
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<����
��
�����������
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���+�,�� �� �!��

/
�	��������	��������	��	��
��	�����������
��



�

����������� ��� ��������	
�

��� $%�=��$���#���+����N���G#��������(O
���
������=�(����'�#��=E�G�� �� �!��

9
!!
�	�����	����
��
�
��	���
��"
�	�
�������
�	�
�����$��	
�����	
��

��� 
�,%$�/��P#�Q�1#���A3�G�����(���/�=
�R����.��G�� �� �!��

 ��	���
�	�
��
"
�

��
�
��	�.�9	�	
��	��	�����=�����
��
��

���������

�	
��
����


��� ���4������/���$����
���$������������5�
��&$��������8��
���+�,�� ���

/
�	����������
�����	��������

����!�	�
��
�����

��� '����������/��B���������#����������JP������E�G�� ���

4<������$��
����	�
���������
	
����	������
�

��� (�F!���������������4�� �$�� (�F!����������������4������ �S.�0������ 
�
��5:���+����#�����
��E�G� �� �!��
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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) �������	
��
��	����	
��	��	��	�������	���������	����	�

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) 
��	
��	�����	�������	 !	�

All the questions are compulsory.

3) 
"����	
��	���	#$��	%�	&'�	#$��(�)*+����	��	 �	����	�

Write the answer to each question in the given answer-book only.

4) �,�	
�����	��	��-�.���	�/01	 2�3	#�	
��	���	#$��	4��	
��	 �	�����

For questions having more than one part, the answers to those parts are to be
written together in continuity.
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5) 
��	��	���	� -%�	�	��&7�,�	8���-��	��	���
�	
����	��9	�)�61	/	�-��	/ �����:���
	 ����	��	� -%�
��;�	���	
��	����	
 �	�����
If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated valid.

6) �/01 
��	
�<�� ����	
"����	
�� #$��	��9	=>%	
�?�
� 1 - 10 1 10 =>%

@ 11 - 18 2 20 =>%


 19 - 27 4 30-40 =>%

% 28 - 30 6 250-300 =>%

Section Q. Nos. Marks per Word limit
question of answer

A 1 - 10 1 10 words

B 11 - 18 2 20 words

C 19 - 27 4 30-40 words

D 28 - 30 6 250-300 words

7) 
��	�7�?����	28, 29 ���	30 ?�	��-�.���	����A�	 !�
Question Nos. 28, 29 and 30 have internal choices.
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�������������
�

���	����

SECTION - A

1) ���=�B	?�	CD�E61	4��	
?�E61	=>%��	���	
��
�?	
D��&	���
	���=�B�	��	���D�F [1]

Which economist for the first time used Micro and Macro terms in economics.

2) 
�?��,��	��&��	���
�	�� ��	 !F [1]

What are the social costs?

3) #"��%�	G���	����	%��	H���	���	?ID	
J@-:	%=����	 2F [1]

Production function shows relationship between which two variables?

4) �7������	4��	���7�������	��9	�"D�:��	
�<D�	���
	@�,��	?�	 ����	 2F [1]

In which market form the number of buyers and sellers are large?

5) ?ID���	�+�)���	���	����'�	%��	#%� �K	%��,4� [1]

Give any two examples of intermidiate goods.

6) ?)L�	��9	�.���;�	����4� [1]

Write the definition of money.

7) ��:����;�	
�	MD�	��"�D�	 2F [1]

What is meant by overdraft?

8) #����&	��9	
�?�-�	
�N�$�	O��	�����	���	
P�	����4� [1]

Write the formula to calculate marginal propensity to consume.
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9) 
?&7	?��&	���
�	�� ��	 !F [1]

What is meant by aggregate demand?

10) �)��	���CD�+��	���	���	����4� [1]

Write the meaning of open economy.

���	����

SECTION - B

11) #�D���&��	
�	���	MD�	
?Q��	 !F [2]

What do you understand by utility?

12) 
��+����	
���	����	#%� �K	R���	
?Q�'4� [1+1=2]

Explain the substitution effect with example.

13) +6�S��	4��	
�� 	?�	�-��	+�E61	��9�,4� [1+1=2]

Clarify the difference between stock and flow.

14) ��E6T1�D	��D	��9	%��	��=�;��45	@��'4� [1+1=2]

Mention two characteristics of national income.

15) 
���	U���P	#"��%	4��	
���	��E6T1�D	#"��%	?�	�-��	@��'4� [1+1=2]

Distinguish between gross domestic product and gross national product.
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�

16) ?)L�	�P���	��9	M
1 
4��	M

3 
��:��K����	����	
?Q�'4� [1+1=2]

Explain the M
1
 and M

3
 concepts of Money Supply.

17) @,61	���	%��	#V��D��	���	#A���	��9�,4� [1+1=2]

Describe two objectives of budget.

18) ���%�	�� ��	���(%��	���	%��	���	@��'4� [1+1=2]

Explain two benefits of cashless transactions.

���	����
SECTION - C

19) CD�E61	���=�B	4��	
?�E61	���=�B	?�	����'�	H��	�-��	@��'4� [1+1+1+1=4]

Mention any four differences between micro economics and macro economics.

20) �61+���	��7�	���	���	@��'4�	'
��9	���	��=�;�����	���	#A���	��9�,4� [1+1+1+1=4]

Give the meaning of indifference curve. Mention it's three features.

21) @�,��	?��&	��9	��:��K�	����	4��	?��&	�������	��9	
 �D��	
�	
?Q�'4� [2+2=4]

Explain the concept of market demand with the help of demand schedule.

22) ��2
�	#"��%	4��	
�?�-�	#"��%	��9	��:��K����	����	
?Q�'4� [2+2=4]

Explain the concepts of average product and marginal product.

23) 
���	����=	4��	=)W	����=	?�	�-��	+�E61	��9�,4� [2+2=4]

Clarify the difference between gross investment and net investment.
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24) 4����:�����"?��	
��D���&��	��9	H��	��=�;��45	
?Q�'4� [1+1+1+1=4]

Explain four features of the monopolistic competition.

25) �P�,�	��9	
�?�-�	���D��)�=���	����	�����H�	R���	
?Q�'4� [2+2=4]

Explain the marginal efficiency of capital with the help of diagram.

26) D�%	
�?�-�	#����&	
�N�$�	0.5	 2	���	����=	&)K��	���	?��	O��	��9�,4� [4]

If the marginal propensity to consume is 0.5, calculate the value of investment
multiplier.

27) �-����E6T1�D	CD����	��9	����D����	���	����'�	H��	����K	@��'4� [1+1+1+1=4]

Mention any four reasons for the need of international trade.

���	����

SECTION - D

28) �.�����=��	��)�����	���	��D?	��9	���	��+�����	����	�����H�	��9	
 �D��	
�	
?Q�'4�[2+2+2=6]

����

�)��	*+��	��&�3	�)��	�.����	��&�	4��	�)��	��&�	��9	��:��K����	����	
��K�	��9	
 �D��	
�

?Q�'4� [2+2+2=6]

Explain the three stages of law of variable proportions with the help of diagram.

OR

Explain the concepts of total cost, total variable cost and total cost with help of a
schedule.



�

�������������
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29) ?��&	4��	�P���	R���	@�,��	
��)��	��:���K	����	�����H�	��9	
 �D��	
�	
?Q�'4� [4+2=6]

����

?��&	4��	�P���	%�����	?�	4��	
��	�N�W	 ����	��	
�JD	��9?�	��	MD�	
���	�X01��	 2F	�����H�	��9

 �D��	
�	
?Q�'4� [4+2=6]

Explain the determination of market equilibrium through demand and supply
with the help of diagram.

OR

What is the effect of simultaneous increase in demand and supply on equilibrium
price? Explain with the help of diagram.

30) CD���.���	@!���	����	�.����;�	��9�,4�	CD���.���	@!��	���	���- Y	H��	���D�Z	���	�K��	��9�,4�[2+4=6]

����

���-L�D	@!��	����	�.����;�	��9�,4�	���-L�D	@!��	���	���- Y	H��	���D�Z	���	�K��	��9�,4�[2+4=6]

Define commercial bank. Describe any four functions of commercial bank.

OR

Define central bank. Describe any four functions of the central bank.
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SS–10–Econ.No. of Questions – 30

No. of Printed Pages – 07

Cƒ _mÜ`{_H$ narjm, 2019
SENIOR SECONDARY EXAMINATION, 2019

AW©emó

ECONOMICS

g_` : 3¼ KÊQ>o

nyUmªH$ : 80

narjm{W ©`m |  H o $ {bE gm_mÝ` {ZX }e …
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm`©V… {bI| &

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^r àíZ H$aZo A{Zdm`© h¢ &

All the questions are compulsory.

3) àË`oH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.

4) {OZ àíZmo§ _| AmÝV[aH$ IÊS> h¡§, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts are to be
written together in continuity.
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5) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVa _| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr
^mfm Ho$ àíZ H$mo ghr _mZ|&

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) IÊS> àíZ g§»`m A§H$ àË`oH$ àíZ CÎma H$s eãX gr‘m
A 1 - 10 1 10 eãX

~ 11 - 18 2 20 eãX

g 19 - 27 4 30-40 eãX

X 28 - 30 6 250-300 eãX

Section Q. Nos. Marks per Word limit
question of answer

A 1 - 10 1 10 words

B 11 - 18 2 20 words

C 19 - 27 4 30-40 words

D 28 - 30 6 250-300 words

7) àíZ H«$‘m§H$ 28, 29 VWm 30 ‘| AmÝV[aH$ {dH$ën h¢&

Question Nos. 28, 29 and 30 have internal choices.
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IÊS> - A

SECTION - A

1) AW©emñÌ H$s {H$g emIm ‘| h‘ ì¶{º$JV BH$mB© H$m AÜ¶¶Z H$aVo h¢? [1]

In which branch of economics do we study of individual unit?

2) CËnmXZ g§̂ mdZm dH«$ ³¶m h¡? [1]

What is the production possibility curve?

3) AW©ì¶dñWm go ³¶m VmËn¶© h¡? [1]

What is meant by an economy?

4) bmJV H$m AW© {b{IE& [1]

Write the meaning of cost.

5) CËnmXZ H$m ³¶m Ame¶ h¡? [1]

What is meant by production?

6) ~mOma H$mo n[a^m{fV H$s{OE& [1]

Define market.

7) Xmo ‘Ü¶dVu dñVwAm| Ho$ Zm‘ {b{IE& [½+½=1]

Write name of two intermediate goods.

8) dñVw {d{Z‘¶ àUmbr go ³¶m A{^àm¶ h¡? [1]

What is meant by barter system?

[ Turn Over
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9) amîQ´>r¶ Am¶ go Amn ³¶m g‘PVo h¡? [1]

What do you understand by National Income?

10) bmoH$VmpÝÌH$ ì¶dñWm ‘| gaH$ma ~OQ> {H$gHo$ g‘j àñVwV H$aVr h¡? [1]

In a democratic system before whom does the government presents the budget.

IÊS> - ~

SECTION - B

11) Am{W©H$ {díbofU H$s {H$Ýht Xmo ‘mÝ¶VmAm| H$mo g§jon ‘| g‘PmBE& [2]

Explain briefly any two assumptions of economic analysis.

12) VQ>ñWVm ‘mZ{MÌ ~ZmBE& [2]

Draw an indifference map.

13) EH$m{YH$mamË‘H$ à{V¶mo{JVm H$mo n[a^m{fV H$s{OE& [2]

Define the monopolistic competition.

14) gH$b Kaoby CËnmX ³¶m h¡? ~mOma H$s‘V na gH$b Kaoby CËnmX H$s JUZm H$m gyÌ {b{IE& [1+1=2]

What is gross domestic product? Write the formula to calculate gross domestic
product at market price.

15) Amn H$s Ñ{îQ> ‘|, amîQ´>r¶ Am¶ H$s JUZm ‘| AmZo dmbr Xmo H${R>ZmB¶m± ~VmBE& [2]

In your view, mention any two difficulties in the measurement of national income.

16) g‘J« ‘m§J go Amn ³¶m g‘PVo h¢? [2]

What do you understand by aggregate demand?
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17) KmQ>o H$m ~OQ> go ³¶m A{^àm¶ h¡? g‘PmBE& [2]

What is meant by deficit budget? Explain.

18) ZH$X{dhrZ boZ-XoZ Ho$ {H$Ýht Xmo ‘mÜ¶‘m| H$m CëboI H$s{OE& [2]

Mention any two modes of cashless transactions.

IÊS> - g

SECTION - C

19) VQ>ñWVm dH«$ H$s {H$Ýht Xmo {deofVmAm| H$mo aoIm{MÌm| H$s ghm¶Vm go g‘PmBE& [4]

Explain any two features of indifference curve with the help of diagrams.

20) {ZåZ{b{IV g§‘H$m| go Am¡gV AmJ‘ Ed§ gr‘mÝV AmJ‘ H$m AmH$bZ H$s{OE - [4]

Hw$b {~H«$s (BH$mB© ‘|)  1   2   3  4

Hw$b AmJ‘ (ê$. ‘|) 20 36 48 56

Calculate Average Revenue and Marginal Revenue from the following data -

Total sale (In Unit)  1  2  3  4

Total revenue (In Rs.) 20 36 48 56

21) nyU© à{V¶moJr ~mOma go ³¶m A{^àm¶ h¡? nyU© à{V¶moJr ~mOma ‘| ’$‘© H$m Am¡gV AmJ‘ dH«$ ~ZmBE& [4]

What is meant by perfect competitive market? Draw an average revenue curve in
perfect competitive market.

22) ~mOma g§VwbZ H$s AdYmaUm H$mo EH$ H$mën{ZH$ Vm{bH$m H$s ghm¶Vm go g§jon ‘| g‘PmBE& [4]

Explain briefly the concept of market equilibrium with the help of imaginary table.

23) amîQ´>r¶ Am¶ H$s {H$Ýht Mma {deofVmAm| H$m dU©Z H$s{OE& [4]

Describe any four features of National Income.

[ Turn Over
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24) ‘wÐm Ho$ {H$Ýht Mma H$m¶m} H$mo g‘PmBE& [4]

Explain any four functions of Money.

25) g‘{îQ> Am{W©H$ gmå¶ H$mo aoIm{MÌ H$s ghm¶Vm go g‘PmBE& [4]

Explain Macro economic equilibrium with help of a diagram.

26) ¶{X gr‘mÝV Cn^moJ àd¥{Îm 0.8 h¡ Vmo {Zdoe JwUH$ H$m ‘mZ kmV H$s{OE& [4]

If the marginal propensity to consume is 0.8, calculate the value of investment
multiplier.

27) AmnH$s Ñ{îQ> go, ~OQ> Ho$ H$moB© Mma CÔoí¶ ~VmBE& [4]

In your view, state any four objectives of budget.

IÊS> - X

SECTION - D

28) ‘m§J Ho$ Xmo VËd ~VmBE& ‘m§J Ho$ {Z¶‘ H$s ì¶m»¶m aoIm{MÌ H$s ghm¶Vm go H$s{OE& [2+2+2=6]

AWdm

‘m§J H$s H$s‘V bmoM {H$go H$hVo h¢? ‘m§J H$s H$s‘V bmoM H$s {H$Ýht Xmo lo{U¶m| H$mo aoIm{MÌm| H$s ghm¶Vm go
g‘PmBE& [2+2+2=6]

State two elements of demand. Explain the law of demand with help of a diagram.

OR

What is the price elasticity of demand? Explain any two types of price elasticity of
demand with the help of diagrams.
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29) Hw$b AmJ‘ Am¡a Hw$b bmJV {d{Y Ûmam ’$‘© Ho$ g§VwbZ H$s ì¶m»¶m aoIm{MÌ H$s ghm¶Vm go H$s{OE& [6]

AWdm

gr‘mÝV AmJ‘ Ed§ gr‘mÝV bmJV {d{Y Ûmam ’$‘© Ho$ g§VwbZ H$s ì¶m»¶m aoIm{MÌ H$s ghm¶Vm go H$s{OE&[6]

Explain the equilibrium of a firm by total revenue and total cost approach with the
help of diagram.

OR

Explain the equilibrium of a firm by marginal revenue and marginal cost approach
with the help of diagram.

30) gmI {Z¶ÝÌU Ho$ {H$Ýht VrZ ‘mÌmË‘H$ Cnm¶m| H$mo {dñVma go g‘PmBE& [2+2+2=6]

AWdm

gmI {Z¶ÝÌU Ho$ {H$Ýht VrZ JwUmË‘H$ Cnm¶m| H$mo {dñVma go g‘PmBE& [2+2+2=6]

Explain broadly any three quantitative methods of credit control.

OR

Explain broadly any three qualitative methods of credit control.


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 Roll No. 

 
No. of Questions – 30    

No. of Printed Pages – 7  

 
 (ECONOMICS) 

  , 2020 
 3¼ 

 80

     

GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1)    -      

Candidate must write first his / her Roll No. on the question paper 

compulsorily.

  (2)       

All the questions are compulsory.

  (3)       -     

Write the answer to each question in the given answer-book only.

SS-10-Econ. 
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  (4)      ,          

For questions having more than one part, the answers to those parts are to 

be written together in continuity.

(5) -          //   

         

If there is any error / difference / contradiction in Hindi & English 

versions of the question paper, the question of Hindi version should be 

treated valid. 

(6)           

  1-10 1 10  

  11-18 2 20  

  19-27 4 30-40  

  28-30 6 250-300  

 

Section Q. Nos. Marks per question Word limit of 

answer 

A 1-10 1 10 words 

B 11-18 2 20 words 

C 19-27 4 30-40 words 

D 28-30 6 250-300 words 

  (7)   28, 29  30     

Question Nos. 28, 29 and 30 have internal choices. 
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 –  
SECTION – A 

 

1.                 ?
In which branch of economics do we study the general theory of income and  
employment ?  1 

 

2.        ?
According to whom economics is the study of wealth ? 1 

 

3.        ?
What is meant by limitation of resources ?  1 

 

4.      ?
What is meant by supply ? 1 

 

5.       
Define labour intensive techniques. 1 

 

6.       
Write the name of two perishable goods. 1 

 

7.      ?
What is meant by stock ? 1 

 

8.      ?
What is meant by depreciation ? 1 

 

9.        ?
What do you understand by Gross Investment ? 1 

 

10.      
Define Balanced Budget. 1 
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 –  
SECTION – B 

 

11.          

Explain briefly static analysis and dynamic analysis. 1 + 1 = 2 

 

12.      
Draw the budget line diagram. 2 

 

13.         
State any two features of perfect competition market. 1 + 1 = 2 

 

14.       (NNPMP)         
    
Write the formula to calculate Net National Product at factor cost from Net 
National Product at Market Price (NNPMP). 2 

 

15.        (GDDMP) ` 4,000                  
` 800  ,        (NDPMP)   
If Gross Domestic Product at market price is à` 4,000 crore and depreciation is 
800 crore then calculate Net Domestic Product at market price.  2 

 

16.          
According to classical economists explain the concept of aggregate supply. 2 

 

17.       
Explain briefly the supplementary budget. 2 

 

18. ‘ ’   
Explain ‘BHIM app’. 2 
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 –  

SECTION – C 
 

19.           

Explain the consumer’s equilibrium with the help of the indifference curves. 2 + 2 = 4 

 

20.    ‘B’        

   

(` ) 
05 10 15 20 

‘A’  
  

07 12 19 28 

‘B’  
  

– – – – 

  20 30 50 60 

Calculate the supply of Producer ‘B’ from the following data : 4 

Price of Goods (`) 05 10 15 20 

Supply of Producer 
‘A’ 

07 12 19 28 

Supply of Producer 
‘B’ 

– – – – 

Market Supply 20 30 50 60 

 

21.               
 

Explain the equilibrium price in short-period market in perfect competition 
with the help of diagram. 2 + 2 = 4   

 

22.   ,        

In your view, mention any four features of Monopolistic competition. 1  4 = 4   
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23.            
Write the definition and formula of Gross Domestic Product at market price. 2 + 2 = 4 

 

24.          

 Explain any four limitations of credit creations. 1  4 = 4 

 

25.          
Explain the induced investment with the help of diagram. 2 + 2 = 4 

 

26.   ,            ?
In your view, what are the step taken by the government under the fiscal  
policy ?   4 

 

27.  ,             ?
In your view, what is the importance of budget as an instrument of economic 
policies ?   4 

 

 –  
SECTION – D 

 

28.      ?             
    

 

         ?          
         
What is Demand Curve ? Explain the shift in demand curve to the right and 
left with the help of diagrams. 2 + 2 + 2 = 6 

OR 

What are the complementary goods and substitute goods ? Explain the effect 
of increase of price on the demand of these goods with the help of diagrams.  

     2 + 2 + 2 = 6
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29.             

                                        

              
  

Explain the average product and marginal product with the help of diagrams.  

     4 + 2 = 6 

OR

Explain the long-run average cost and long-run marginal cost with the help of 

diagrams. 

     4 + 2 = 6 

 

30.            

                        

                 

Explain broadly any three functions of Central Bank. 2 + 2 + 2 = 6 

                                OR 

Explain broadly any three principal tools of monetary policy of Reserve Bank 
of India. 

     2 + 2 + 2 = 6 

____________  
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